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All gquestions in both the sections are compulsory.
Marks for questions are indicated against each.

Questions No. 1 -8 and 17 -21 are very short-answer questions
carrying 1 mark each. They are required io be answered in one
sentence each.

Questions No. 6-=10 and 22-26 are short-answer questions
carrving 3 marks each. Answers to them should normally not exceed
60 words each.

Questions No. 11 - 13 and 27 - 29 are also short-answer questions
carrying 4 marks each. Answers to them should normally not exceed
70 words each.

Questions No. I14-16 and 30-32 are long-answer guestions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

Answers should be brief and to the point and the above word limits
should be adhered to as far as possible,
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SECTION A
1. #HE sdwmaE =t i &faw 1
Define macro economics.
2, us IAfvom =% == femm # 7 1

What does an indifference curve show 7

8. dmiw wm ) wfte S p

Define marginal cost.

4, UH UH an F fowd vw owd & o #hm W ovw ag & fEeR ot dw ww
#, stom woftn () w0 wmeEn W e # 7 1

What is the behaviour of average revenue in a market in which a
firm can sell any quantity of a good at a given price 7

5. s & oftwmn e 1
Define oligopoly.

6.  Wmor W g Wy fE oA wren @ sre o gt R 1

Explain, giving reason, why production possibilities curve is concave.

7. UK INdeR e @ wel X o YW oapim g # shomw dgem A 8 X @
s wg Wt # | Twdfon fareee o e @ amiee o sfefem s 3

A consumer consumes only two goods X and Y and is in equilibrium.
Price of X rises. Explain the reaction of the consumer with the help
of utility analysis,
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8. T# 1 =% difer fos m g = off & @i &=

(i) T,
(ii) W=, T
(iii) o= ® 1

Draw supply curves showing price elasticity of supply equal to
(i) Zero,
(ii) one, and
(iii) infinity throughout.
iz : et Wo7 a0 giegly ofignibal & T s dew s & ma w # 1

Note : The following question is for the Blind Candidates only, in lieu
of . No. 8.
i dwer o ok piem d9m off & @ W e

Distinguish between perfectly elastic supply and perfectly inelastic
supply.

E-

9. UH INEE WANY YR & & foaw owm aen ww # oo wd @ o swem
tayE R | W g & s W siafaien sl we @ W e
TR |

A producer borrows money to start a business and looks after
business himself. Identify the implicit and explicit costs from thi
information. Explain.

i

£F

10. ws of sfrht aem 4 ‘ow Ier’ & oferm wEEET
e

i awR § ‘I fne’ & wfore weemw

Explain the implications of ‘homogensouz products’ in a perfectly
competitive market.

OR

Explain the implications of ‘differentiated products’ in monopolistic
competition.
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11. 993RT & U% sfene % 6 90 § o0 59 % 6 Te B § | SHEEE O
favem 3 e & IvdeR dEA S T S ) 4

Explain why iz an indifference curve downward sloping from left to
right. State the conditions of consumer’s equilibrium in Indifference
Curve Analysis.

12, % W T 11 9 TR W a6 ¥ 13 79 wlow £ | 79 w99 9 w4 T 13
Wi T @ Wt €, 9% 11 TE wiew § | ww fafg g A @ S d@e o
FfAT | §H g9 % AT W AN 5% F WER W feoeh o Sifsm 4

A consumer buys 13 units of a good at a price of ¥ 11 per unit
When price rises to T 13 per unit he buys 11 units. Use expenditure
approach to find price elasticity of demand. Also comment on the
shape of the demand curve based on this information.

13, frdt Ieo W o o A oftedw w0 @ 39 I @ o W oW v opem @ 7
AT | 4
L)

gt (srm) # sy sfiomg # 7 dwtn wofte s aftem wowfe & dw wE
e |

How does the change in tax on a product influence the ﬁl.l'i.:-*]:]-}' of that
product 7 Explain,

OR

What is revenue 7 Explain the relation between marginal revenue
and average revenue.

14, Frafofan & b2 Sifaw 6
(i)  ‘gin § ofteds’ s wv oo A ofteds’
(ii) w9z ¥z & T T
Explain the distinction between :

(i) ‘Change in demand’ and ‘Change in quantity demanded’
(1i) Budget set and Budget line
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15, T ST & AW % FER FA IR F oA § W TN | N
912 Frv off TEE | et W o i

State the phases of changes in total product in the Law of Variable
Proportions. Also explain the reason behind each phase. Use diagram.

itz : (et e da giuwiT aitemaat & o0 5vT qe 15 % T W

Note : The following question is for the Blind Candidates only, in lieu
of Q. Neo. 15

fterdl el & Fraw & sen g@ gew # ofteds & owon wawn ) owEw
& i wrm oft wogme | wfew w1 s S

State the phases of changes in total product in the Law of Variable
Proportions. Also explain the reason behind each phase. Use a
schedule.

16, % aw ® WA wgEE & & | awm A i A sfafemst @ e s, oW
() qff # “sht” = oW |
(ii) wfnm & “wlt" = oo
yeren

U q] W AR gged # & 5 e ofi # uwewm Cgfs” @ @ S S
# #r¢ oftad= 78 s | wHEwy fR OW &R dwm R WfEm w0 wEm s

Market for a good is in equilibrium, Explain the chain of reactions in
the market when there is

(i)  “decrease” in supply.

(ii) “decrease” in demand.
OR

Market for a good is in equilibrium. There is simultaneous “increase”
both in demand and supply but there is no change in price. Explain
how is it possible. Use a schedule.

58/211 6
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SECTION B

17. e e St ofomw G

Define capital goods.

18, wam® =@ @i gfowmn &faw

Define flow variables.

19, % qm & e sforg # 7
What is bank money 7

20, s w1 %1 oftarn difaw
Define indirect tax.

21, weitel fafgy & @ @ sifawm @ 2
What is a flexible exchange rate ?

22, N T W e 7 gfs e Sife

(i) weEEAl @ (T)

(ii) == F ofiEd (@)

(ili) =g fasl (v@rd)

(iv) Te9RA & WA TR @ ()
(v) #EM = (T)

(vi) o= gt &= I9hm (T)

68/2/1 7

10,000
1,000
750

2,000
3,000
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Find out Net Value Added at Market Price :

(i)  Intermediate cost (T) 10,000
(ii) Change in Stock (¥) 1,000
(iiil) Output sold (units) 750
(ivl Price per unit of output (¥) 40
(v) Import duty (¥) 2,000
(vi) Consumption of fixed capital (¥) 3,000

23, W@ W A W gEd & EwRwm

Explain the ‘unit of account’ function of money,

24, wH @ Tafen § Iodm aw sl wwn aw e st s oW T fas femm

Draw consumption curve and saving curve in a single diagram and
mark the ‘break-even point’,

25, frefafEs @ ‘faEwr 7@ Fifag -
TEE W = T 800
e (FATH) ITEM = T 50
Tmim I e = 0-8

Find ‘investment’' from the following :

National income = T 800
Autonomous consumption = ¥ 50
Marginal propensity to consume = (-8

B8/21 B



26, WER T ¥ e =9 SR Q6m 9 F d@w W aowe | e = I
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29,
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e, |
s
o H A g WA § e a9 # ofte woemEw

Distinguish between revenue expenditure and capital expenditure in a
government budget. Give example in each case.

OR

Explain the role of government budget in reducing income
inequalities.

T WA gu W & i s ow T Prefefan § we s s e
o =

(i) o T IEA [ W

(i) o T W w® Y

Giving reason, explain how the following should be treated while
estimating national income :

(i}  Payment of excise duty by a firm

(il) Payment of interest by a firm

# #w w g ot @ |

o
‘wifafes wEm ST s At fod squw & de s TEEEw
Explain ‘Bank of issue' function of central bank.

OR

Explain the distinction between ‘Statutory liquidity ratio’ and ‘Legal
reserve ratio’,

ol wwe # ‘wafiw WZT @ SEWETT AWWET | TEE 9 9A wed # 7

Explain the concept of ‘primary deficit’ in a government budget. What
does it indicate 7



30. (1) 7R Frm @ FEw i IE s (3) oEe T wEem A e it

(i)
{ii)
{iii)
(iv)
(v)

HAgH 79 A
feEmen

frae it Fre = (o) i
frae s =

Tt

(vi}) =M™

(vil) fowll & frae ®nE o

(viii) 3m@a &t &1 FTH

(ix) Frrsl g amnfas g siem
(x) A BN RS Ho s
(xi) ==

Find (a) Net National Product at
National Disposable Income :

R FE)
700

100
10

70

50
300
(=) 20
120
60

40
400

Market Price and (b) Gross

T crore)
(i)  Wages and Salaries 700
(ii) Rent 100
(iii) Net current transfers to abroad 10
(iv) Net indirect tax T0
(vl  Royalty 50
(vi) Profits 300
(vii} Net factor income to abroad () 20
(viii) Consumption of fixed capital 120
{ix) Social security contribution by employers 60
(x) Social security contribution by employees 40
(xi} Interest 400
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Explain the concept of ‘deflationary gap’. Also explain the role of
‘open market operations’ in reducing it.

OR

Explain the concept of ‘excess demand’. Also explain the role of ‘Bank
Rate' in reducing it.

faeht faforg & wfn st off vl & -9 i wew | wRw 2R gw faRe fafem
71 i fagyht fafem % 9 & e wes TEgm

Giive two sources each of demand and supply of foreign exchange.
Giving reason explain the relation between foreign exchange rate and
supply of foreign exchange.



